

Ball Convergence of the Laguerre-Like Method for Multiple Zeros

Ioannis K. Argyros¹ and Santhosh George*

¹ Department of Mathematical Sciences, Cameron University, Lawton, OK 73505, USA.

* Department of Mathematical and Computational Sciences, NIT Karnataka, 575 025, India.

E-mail:sgeorge@nitk.ac.in

ABSTRACT. The aim of this paper is to present a ball convergence of the Laguerre-like method for zeros of multiplicity under weak convergence conditions.

1 Introduction

Many problems in applied sciences and also in engineering can be written in the form like

$$f(x) = 0, \tag{1.1}$$

using mathematical modeling, where $f : D \subseteq \mathbb{R} \rightarrow \mathbb{R}$ is sufficiently many times differentiable and D is a convex subset in \mathbb{R} . In the present study, we pay attention to the case of a solution p of multiplicity $m > 1$, namely, $f(x_*) = 0, f^{(i)}(x_*) = 0$ for $i = 1, 2, \dots, m - 1$, and $f^{(m)}(x_*) \neq 0$. The determination of solutions of multiplicity m is of great interest. In the study of electron trajectories, when the electron reaches a plate of zero speed, the function distance from the electron to the plate has a solution of multiplicity two. Multiplicity of solution appears in connection to Van Der Waals equation of state and other phenomena. The convergence order of iterative methods decreases if the equation has solutions of multiplicity m . Modifications in the iterative function are made to improve the order of convergence. The modified Newton's method (MN) defined for each $n = 0, 1, 2, \dots$

$$x_{n+1} = x_n - m f'(x_n)^{-1} f(x_n), \tag{1.2}$$

* Corresponding Author.

Received July 20, 2017; accepted September 18, 2017.

2010 Mathematics Subject Classification: 65D10, 65G99, 49M15.

Key words and phrases: Laguerre-like method, multiple zeros, ball convergence.

This is an open access article under the CC BY license <http://creativecommons.org/licenses/by/3.0/>.

where $x_0 \in D$ is an initial point is an alternative to Newton's method in the case of solutions with multiplicity m that converges with second order of convergence. We consider the Laguerre-like method for multiple zeros (LLMM) [7] defined for each $n = 0, 1, 2, \dots$ by

$$x_{n+1} = x_n - \frac{\lambda f(x_n)}{f'(x_n) \pm \sqrt{\frac{\lambda-m}{m} [(\lambda-1)f'(x_n)^2 - \lambda f^2(x_n) f''(x_n)]}}, \quad (1.3)$$

where $x_0 \in D$ is an initial point and $\lambda \in \mathbb{R}$ is a parameter. Some special cases of the parameter λ in (1.3) reduce to the well-known third order methods:

Euler-Chebyshev-like method ($\lambda = 2$) [13,16]:

$$x_{n+1} = x_n - \frac{2mf(x_n)}{f'(x_n) \pm \sqrt{(2m-1)f'(x_n)^2 - 2mf^2(x_n)f''(x_n)}}.$$

Halley-like method ($\lambda = 0$) [4]:

$$x_{n+1} = x_n - \frac{m+1}{2m} f'(x_n) - \frac{f(x_n)f''(x_n)}{2f'(x_n)}.$$

Ostrowski-like method ($\lambda \rightarrow \infty$) [13,16]:

$$x_{n+1} = x_n - \frac{\sqrt{m}f(x_n)}{\sqrt{f'(x_n)^2 - f(x_n)f''(x_n)}}.$$

Hansen and Patrick method ($\lambda = \frac{1}{\mu} + 1$) [6]:

$$x_{n+1} = x_n - \frac{m(\mu+1)f(x_n)}{\mu f'(x_n) \pm \sqrt{(m(\mu+1) - \mu)f'(x_n)^2 - m(\mu+1)f^2(x_n)f''(x_n)}}.$$

Let $U(p, \lambda) := \{x \in U_1 : |x - p| < \lambda\}$ denote an open ball and $\bar{U}(p, \lambda)$ denote its closure. It is said that $U(p, \lambda) \subseteq D$ is a convergence ball for an iterative method, if the sequence generated by this iterative method converges to p , provided that the initial point $x_0 \in U(p, \lambda)$. But how close x_0 should be to x_* so that convergence can take place. Extending the ball of convergence is very important, since it shows the difficulty, we confront to pick initial points. It is desirable to be able to compute the largest convergence ball. This is usually depending on the iterative method and the conditions imposed on the function f and its derivatives. We can unify these conditions by expressing them as:

$$\|(f^{(m)}(x_*))^{-1}(f^{(m+1)}(x))\| \leq \varphi_0(\|x - x_*\|) \quad (1.4)$$

$$\|(f^{(m)}(x_*))^{-1}(f^{(m+1)}(x) - f^{(m+1)}(y))\| \leq \varphi(\|x - y\|) \quad (1.5)$$

for all $x, y \in D$, where $\varphi_0, \varphi : \mathbb{R}_+ \cup \{0\} \rightarrow \mathbb{R}_+ \cup \{0\}$ are continuous and nondecreasing functions satisfying $\varphi(0) = 0$. If, $m \geq 1$, $\varphi_0(t) = \mu_0$ and

$$\varphi(t) = \mu t^q, \mu_0 > 0, \mu > 0, q \in [0, 1], \quad (1.6)$$

then, we obtain the conditions under which the preceding methods were studied [1–16]. However, there are ceases where even (1.6) does not hold (see Example 4.1). Moreover, the smaller functions φ_0, φ are chosen, the larger the radius of convergence becomes. The technique, we present next can be used for all preceding methods as well as

in methods where $m = 1$. However, in the present study, we only use it for LLMM. This way, in particular, we extend the results in [4–13, 15, 16].

The rest of the paper is structured as follows. Section 2 contains some auxiliary results on divided differences and derivatives. The ball convergence of LLMM is given in Section 3. The numerical examples are given in the concluding Section 4.

2 Auxiliary results

In order to make the paper as self contained as possible, we restate some standard definitions and properties for divided differences [4, 6, 7, 13, 15].

Definition 2.1 *The divided differences $f[y_0, y_1, \dots, y_k]$, on $k + 1$ distinct points y_0, y_1, \dots, y_k of a function $f(x)$ are defined by*

$$\begin{aligned} f[y_0] &= f(y_0) \\ f[y_0, y_1] &= \frac{f[y_0] - f[y_1]}{y_0 - y_1}, \\ &\vdots \\ f[y_0, y_1, \dots, y_k] &= \frac{f[y_0, y_1, \dots, y_{k-1}] - f[y_0, y_1, \dots, y_k]}{y_0 - y_k}. \end{aligned} \quad (2.1)$$

If the function f is sufficiently differentiable, then its divided differences

$f[y_0, y_1, \dots, y_k]$ can be defined if some of the arguments y_i coincide. for instance, if $f(x)$ has k -th derivative at y_0 , then it makes sense to define

$$f[\underbrace{y_0, y_1, \dots, y_k}_{k+1}] = \frac{f^{(k)}(y_0)}{k!}. \quad (2.2)$$

Lemma 2.2 *The divided differences $f[y_0, y_1, \dots, y_k]$ are symmetric functions of their arguments, i.e., they are invariant to permutations of the y_0, y_1, \dots, y_k .*

Lemma 2.3 *If the function f has k -th derivative, and $f^{(k)}(x)$ is continuous on the interval $I_x = [\min(y_0, y_1, \dots, y_k), \max(y_0, y_1, \dots, y_k)]$, then*

$$f[y_0, y_1, \dots, y_k] = \int_0^1 \dots \int_0^1 \theta_1^{k-1} \theta_2^{k-1} \dots \theta_k^{k-1} f^{(k)}(\theta) d\theta_1 \dots \theta_k, \quad (2.3)$$

where $\theta = y_0 + (y_1 - y_0)\theta_1 + (y_2 - y_1)\theta_1\theta_2 + \dots + (y_k - y_{k-1})\theta_1 \dots \theta_k$.

Lemma 2.4 *If the function f has $(k + 1)$ -th derivative, then for every argument x , the following formulae holds*

$$\begin{aligned} f(x) &= f[v_0] + f[v_0, v_1](x - v_0) + \dots + f[v_0, v_1, \dots, v_k](x - v_0) \dots (x - v_k) \\ &\quad + f[v_0, v_1, \dots, v_k, x]\lambda(x), \end{aligned} \quad (2.4)$$

where

$$\lambda(x) = (x - v_0)(x - v_1) \dots (x - v_k). \quad (2.5)$$

Lemma 2.5 Assume the function f has continuous $(m + 1)$ -th derivative, and x_* is a zero of multiplicity m , we define functions g_0, g and g_1 as

$$\begin{aligned} g_0(x) &= f[\underbrace{x_*, x_*, \dots, x_*, x}_m], \quad g(x) = f[\underbrace{x_*, x_*, \dots, x_*, x}_m], \\ g_1(x) &= f[\underbrace{x_*, x_*, \dots, x_*, x}_m] \end{aligned} \quad (2.6)$$

then

$$g'(x) = g_0(x), \quad g''(x) = 2g_1(x). \quad (2.7)$$

Lemma 2.6 If the function f has an $(m + 1)$ -th derivative, and x_* is a zero of multiplicity m , then for every argument x , the following formulae hold

$$f(x) = f[\underbrace{x_*, x_*, \dots, x_*, x}_m](x - x_*)^m = g(x)(x - x_*)^m \quad (2.8)$$

$$\begin{aligned} f'(x) &= f[\underbrace{x_*, x_*, \dots, x_*, x}_m](x - x_*)^m \\ &\quad + mf[\underbrace{x_*, x_*, \dots, x_*, x}_m](x - x_*)^{m-1} \\ &= g_0(x)(x - x_*)^m + mg(x)(x - x_*)^{m-1} \end{aligned} \quad (2.9)$$

and

$$\begin{aligned} f''(x) &= 2f[\underbrace{x_*, x_*, \dots, x_*, x}_m](x - x_*)^m \\ &\quad + 2mf[\underbrace{x_*, x_*, \dots, x_*, x}_m](x - x_*)^{m-1} \\ &\quad + m(m-1)f[\underbrace{x_*, x_*, \dots, x_*, x}_m](x - x_*)^{m-2} \\ &= 2g_1(x)(x - x_*)^m + 2mg_1(x)(x - x_*)^{m-1} \\ &\quad + m(m-1)g(x)(x - x_*)^{m-2}, \end{aligned} \quad (2.10)$$

where $g_0(x), g(x)$ and $g_1(x)$ are defined previously.

3 Local convergence

It is convenient for the local convergence analysis that follows to define some real functions and parameters.

Define the function ψ_0 on $\mathbb{R}_+ \cup \{0\}$ by

$$\psi_0(t) = \frac{\varphi_0(t)t}{m+1} - 1.$$

We have $\psi_0(0) = -1 < 0$ and $\psi_0(t) > 0$, if

$$\varphi_0(t)t \longrightarrow \text{a positive number of } +\infty \quad (3.1)$$

for sufficiently large t . It then follows from the intermediate value theorem that function ψ_0 has zeros in the interval $(0, +\infty)$. Denote by ρ_0 the smallest such zero. Define functions $\varphi_0^{(m)}, \varphi^{(m)}, h_0, h_1$ on the interval $[0, \rho_0)$ by

$$\begin{aligned}\varphi_0^{(m)}(t) &= m! \int_0^1 \dots \int_0^1 \theta_1^m \theta_2^{m-1} \dots \theta_m \varphi_0(\theta_1, \dots, \theta_m t) d\theta_1 \dots d\theta_{m+1}, \\ \varphi^{(m)}(t) &= m! \int_0^1 \theta_1^m \theta_2^{m-1} \dots \theta_m \varphi(\theta_1, \dots, \theta_{m-1}(1-\theta_m)t) d\theta_1 \dots d\theta_{m+1}, \\ h_0(t) &= \varphi_0^{(m)}(t)t + |m - \lambda| \frac{\varphi_0^{(m)}(t)t}{m+1} \\ &\quad + \sqrt{|\lambda - 1|} \varphi_0^{(m)}(t)t + \sqrt{m|m - \lambda|} \frac{\varphi_0^{(m)}(t)t}{m+1} \\ &\quad + \frac{2m\varphi_0^{(m)}(t)t}{\sqrt{m+1 - \varphi_0(t)t}} + 2m|\lambda| \sqrt{\frac{\varphi_0^{(m)}(t)\varphi^{(m)}(t)t}{m+1 - \varphi_0(t)t}},\end{aligned}$$

and

$$\begin{aligned}h_1(t) &= 1 - \frac{\varphi_0(t)t}{m+1} - \sqrt{|\lambda - 1|} \varphi_0^{(m)}(t)t \\ &\quad - \sqrt{m|m - \lambda|} \frac{\varphi_0^{(m)}(t)t}{m+1} - \frac{2m\varphi_0^{(m)}(t)t}{\sqrt{m+1 - \varphi_0(t)t}} \\ &\quad - 2m|\lambda| \sqrt{\frac{\varphi_0^{(m)}(t)\varphi^{(m)}(t)t}{m+1 - \varphi_0(t)t}}.\end{aligned}$$

We get that $h_1(0) = 2m^2m + 1 > 0$ and $h_1(t) \rightarrow -\infty$ as $t \rightarrow \rho_0^-$. Denote by r_0 the smallest zero of function h_1 in the interval $(0, \rho_0)$. Define function h on $[0, r_0)$ by

$$h(t) = \frac{h_0(t)}{h_1(t)} - 1.$$

We obtain that $h(0) = -1 < 0$ and $h(t) \rightarrow +\infty$ as $t \rightarrow r_0^-$. Denote by r the smallest zero of function h on the interval $(0, r_0)$. Then, we have that for each $t \in [0, r)$

$$0 \leq h(t) < 1. \quad (3.2)$$

The local convergence analysis is based on conditions (A):

(A₁) Function $f : D \subseteq \mathbb{R} \rightarrow \mathbb{R}$ is $(m+1)$ -times differentiable and x_* is a zero of multiplicity m .

(A₂) Conditions (1.4) and (1.5) hold

(A₃) $\bar{U}(x_*, r) \subseteq D$, where the radius of convergence r is defined previously.

(A₄) Condition (3.1) holds.

Theorem 3.1 *Suppose that the (A) conditions hold. Then, sequence $\{x_n\}$ generated for $x_0 \in U(x_*, r) - \{x_*\}$ by LLMM is well defined in $U(x_*, r)$, remains in $U(x_*, r)$ for each $n = 0, 1, 2, \dots$ and converges to x_* .*

We need the auxiliary result:

Lemma 3.2 *Suppose that the conditions (A) hold. Then, for all $x_0 \in I := [x_* - \rho_0, x_* + \rho_0]$ and $\delta_0 = x_0 - x_*$ the following assertions hold:*

$$(i) |g(x_*)^{-1}g_0(x_0)| \leq \varphi_0^{(m)}(|\delta_0|)$$

$$(ii) |g(x_0)^{-1}g(x_*)| \leq \frac{m+1}{m+1-\varphi_0^{(m)}(|\delta_0|)|\delta_0|}$$

$$(iii) |g(x_*)^{-1}g_1(x_0)\delta_0| \leq \varphi_0^{(m)}(|\delta_0|)$$

$$(iv) |g(x_0)^{-1}g_0(x_0)| \leq \frac{(m+1)\varphi_0^{(m)}(|\delta_0|)}{m+1-\varphi_0^{(m)}(|\delta_0|)|\delta_0|}$$

and

$$(v) |g(x_0)^{-1}g_1(x_0)\delta_0| \leq \frac{(m+1)\varphi_0^{(m)}(|\delta_0|)}{m+1-\varphi_0^{(m)}(|\delta_0|)|\delta_0|}.$$

Proof. (i) Using (2.2) and (2.6), we can write $g(x_*) = f[\underbrace{x_*, x_*, \dots, x_*}_{m+1}] = \frac{f^{(m)}(x_*)}{m!}$. Then, by (2.2), (2.6), (1.4), (1.5) and (2.3) we get

$$\begin{aligned} |g(x_*)^{-1}g_0(x_0)| &= |g(x_*)^{-1} \int_0^1 \dots \int_0^1 \theta_1^m \theta_2^m \dots \theta_m f^{(m+1)}(x_* + \delta_0 \theta_1 \dots \theta_m) d\theta_1 \dots d\theta_{m+1}| \\ &= \varphi_0^{(m)}(|\delta_0|). \end{aligned}$$

(ii) We also have by (1.4) and the definition of ρ_0 that

$$\begin{aligned} |1 - g(x_*)^{-1}g(x_0)| &= |g(x_*)^{-1}(g(x_*) - g(x_0))| \\ &\leq |g'(x_*)^{-1}g'(y_0)\delta_0| \\ &\leq \frac{\varphi_0^{(m)}(|\delta_0|)|\delta_0|}{m+1} < 1. \end{aligned}$$

(for some y_0 between x_* and x_0). It follows from the Banach lemma on invertible functions [1–3] that $g(x_0) \neq 0$ and

$$\begin{aligned} |g(x_0)^{-1}g(x_*)| &\leq \frac{1}{1 - \frac{\varphi_0^{(m)}(|\delta_0|)|\delta_0|}{m+1}} \\ &= \frac{m+1}{m+1 - \varphi_0^{(m)}(|\delta_0|)|\delta_0|}. \end{aligned}$$

(iii) By (2.3) we get in turn that

$$\begin{aligned} |g(x_*)^{-1}g_1(x_0)\delta_0| &= |g(x_*)^{-1} \int_0^1 \dots \int_0^1 \theta_1^m \theta_2^m \dots \theta_m \\ &\quad \times [f^{(m+1)}(x_* + \delta_0 \theta_1 \dots \theta_{m-1}) - f^{(m+1)}(x_* + \delta_0 \theta_1 \dots \theta_m)] d\theta_1 \dots d\theta_{m+1}| \\ &\leq \varphi_0^{(m)}(|\delta_0|). \end{aligned}$$

Items (iv) and (v) follow immediately from (i)-(iii). □

Proof Theorem 3.1. We shall use mathematical induction, Lemma 3.2 and the estimates

$$\begin{aligned} f(x_0) &= g(x_0)\delta_0^m \\ f'(x_0) &= g_0(x_0)\delta_0^m + g(x_0)m\delta_0^{m-1} \end{aligned} \tag{3.3}$$

and

$$f''(x_0) = 2g_1(x_0)\delta_0^m + 2g_0(x_0)m\delta_0^{m-1} + m(m-1)g(x_0)\delta_0^{m-2}.$$

Using (3.3) in (1.3) and $\delta_0 = x_0 - x_*$, we have in turn that

$$|\delta_1| = \left| \frac{N_1 \delta_0^m}{D_0 \delta_0^{m-1}} \right| = \frac{g(x_*)^{-1} |N|}{g(x_*)^{-1} |D|} |\delta_0|, \quad (3.4)$$

where

$$N_0 = \sqrt{(\lambda - 1)g_0(x_0)^2 \delta_0^2 + m(\lambda - m)g_0(x_0)^2 - 2mg(x_0)g_0(x_0)\delta_0 - \Lambda} \quad (3.5)$$

where $\Lambda = 2\lambda mg(x_0)g_1(x_0)\delta_0$,

$$N_1 = g_0(x_0)\delta_0 + (m - \lambda)g(x_0) + N_0 \quad (3.6)$$

and

$$D_0 = g_0(x_0)\delta_0 + N_0. \quad (3.7)$$

Next, we shall show that $h_0(|\delta_0|)$ is an upper bound on $|g(x_*)^{-3}N_1|$ and $h_1(|\delta_0|)$ is a lower bound on $|g(x_*)^{-3}D_0|$.

Using Lemma 3.2, we get in turn

$$|g'(x_*)^{-1}g_0(x_0)| \leq \varphi_0^{(m)}(|\delta_0|), \quad (3.8)$$

$$|g(x_*)^{-1}g(x_0)| = |g'(x_*)^{-1}(g(x_*) - g(x_0))| \quad (3.9)$$

$$\leq |g(x_*)^{-1}g'(y_0)\delta_0| \leq \frac{\varphi_0^{(m)}(|\delta_0|)|\delta_0|}{m+1} \quad (3.10)$$

$$|g(x_*)^{-1}g(x_0)g(x_*)^{-1}g_0(x_0)| \leq \frac{\varphi_0^{(m)}(|\delta_0|)|\delta_0|}{m+1} \frac{(m+1)\varphi_0^{(m)}(|\delta_0|)}{m+1 - \varphi_0(|\delta_0|)|\delta_0|} \quad (3.11)$$

and

$$(3.12)$$

$$|g(x_*)^{-1}g(x_0)g(x_*)^{-1}g_1(x_0)\delta_0| \leq \frac{\varphi_0^{(m)}(|\delta_0|)|\delta_0|}{m+1} \frac{(m+1)\varphi_0^{(m)}(|\delta_0|)}{m+1 - \varphi_0(|\delta_0|)|\delta_0|}. \quad (3.13)$$

Using (3.5), (3.6), (3.8)-(3.13), the definition of function h_0 and the triangle inequality, we obtain in turn

$$\begin{aligned} |g(x_*)^{-1}N_1| &\leq |g(x_*)^{-1}g_0(x_0)||\delta_0| + |m - \lambda||g(x_*)^{-1}g(x_0)| \\ &\quad + \sqrt{|\lambda - 1|\varphi_0^{(m)}(|\delta_0|)|\delta_0|} + \sqrt{m|\lambda - m|\frac{\varphi_0^{(m)}(|\delta_0|)|\delta_0|}{m+1}} \\ &\quad + 2m\sqrt{\frac{(\varphi_0^{(m)}(|\delta_0|))^2|\delta_0|^2}{m+1 - \varphi_0(|\delta_0|)|\delta_0|}} \\ &\quad + 2m|\lambda|\sqrt{\frac{\varphi_0^{(m)}(|\delta_0|)|\delta_0|\varphi_0^{(m)}(|\delta_0|)}{m+1 - \varphi_0(|\delta_0|)|\delta_0|}} = h_0(|\delta_0|). \end{aligned} \quad (3.14)$$

Moreover, we have from (3.7), (3.8)-(3.14), the definition of function h_1 and the inequality $|u + v| \geq |u| - |v|$, $u, v \in \mathbb{R}$:

$$\begin{aligned} |g(x_*)^{-1}D_0| &\geq 1 - |g(x_*)^{-1}(g(x_*) - g(x_0))| - |g(x_*)^{-1}N_0| \\ &\geq 1 - \frac{\varphi_0(|\delta_0|)|\delta_0|}{m+1} - |g(x_*)^{-1}N_0| \\ &\geq h_1(|\delta_0|). \end{aligned} \quad (3.15)$$

In view of (3.2), (3.4), (3.14) and (3.15), we get that

$$|\delta_1| \leq h(|\delta_0|)|\delta_0| \leq c|\delta_0|, \quad (3.16)$$

where $c = h(|\delta_0|) \in [0, 1)$, so $x_1 \in U(x_*, r)$. By simply replacing x_0, x_1 by x_k, x_{k+1} in the preceding estimates, we get

$$|x_{k+1} - x_*| \leq c|x_k - x_*| < r, \quad (3.17)$$

so $\lim_{k \rightarrow +\infty} x_k = x_*$ and $x_{k+1} \in U(x_*, r)$.

□

Next, we present a uniqueness result for the solution x_* .

Proposition 3.3 *Suppose that the conditions (A) hold. Then, the limit point x_* is the only solution of equation $f(x) = 0$ in $D_1 = D \cap \bar{U}(x_*, \rho_0)$.*

Proof. Let x_{**} be a solution of equation $f(x) = 0$ in D_1 . We can write by (2.8) that

$$f(x_{**}) = g(x_{**})(x_{**} - x_*)^m. \quad (3.18)$$

Using (1.4) and the properties of divided differences, we get in turn that

$$\begin{aligned} |1 - g'(x_*)^{-1}g(x_{**})| &= |g(x_*)^{-1}(g(x_*) - g(x_{**}))| \\ &= |g(x_*)^{-1} \frac{f^{(m+1)}(z_0)}{(m+1)!} (x_{**} - x_*)| \\ &\leq \frac{\varphi_0(|x_{**} - x_*|)|x_{**} - x_*|}{m+1} < 1 \end{aligned} \quad (3.19)$$

for some point between x_{**} and x_* . It follows from (3.18) and (3.19) that $x_{**} = x_*$.

4 Numerical Examples

We present a numerical example in this section.

Example 4.1 Let $D = [0, 1]$, $m = 2$, $p = 0$ and define function f on D by

$$f(x) = \frac{4}{35}x^{\frac{7}{2}} + \frac{1}{6}x^3 + \frac{1}{2}x^2.$$

We have $f'(x) = \frac{2}{5}x^{\frac{5}{2}} + \frac{x^2}{2} + x$, $f''(x) = x^{\frac{3}{2}} + x + 1$, $f''(0) = 1$. function f'' cannot satisfy (1.5) with ψ given by (1.6). Hence, the results in [4–16] cannot apply. However, the new results apply for $\varphi(t) = \frac{3}{2}t^{\frac{1}{2}}$ and $\varphi_0(t) = \frac{5}{2}$. Moreover, the convergence radius is $r = 4.2849e - 04$.

Example 4.2 Let $D = [-1, 1]$, $m = 2$, $p = 0$ and define function f on D by

$$f(x) = e^x - x - 1.$$

We get $\varphi_0(t) = \varphi(t) = et$. the convergence radius is $r = 0.03309$.

References

- [1] S. Amat, M.A. Hernández, N. Romero, Semi-local convergence of a sixth order iterative method for quadratic equations, *Applied Numerical Mathematics*, 62 (2012), 833-841.
- [2] I.K. Argyros, *Computational theory of iterative methods*. Series: Studies in Computational Mathematics, 15, Editors: C.K.Chui and L. Wuytack, Elsevier Publ. Co. New York, U.S.A, 2007.
- [3] I.K Argyros, On the convergence and application of Newtons method under Hölder continuity assumptions, *Int. J. Comput. Math.* , 80,(2003), 767-780.
- [4] W. Bi, H. M. Ren, Q. Wu, Convergence of the modified Halley's method for multiple zeros under Hölder continuous derivatives, *Numer. Algor.*, 58, (2011), 497–512. 69.
- [5] C. Chun, B. Neta, A third order modification of Newton's method for multiple roots, *Appl. Math. Comput.*, 211, (12009), 474–479.
- [6] E. Hansen, M. Patrick, A family of root finding methods, *Numer. Math.*, 27, (1977), 257–2
- [7] E. Laguerre, Sur la résolution des équations numériques, *Nouv. Ann. de Math.*, Sér. 2, tome 17, (1878), 97–101.
- [8] A. A. Magreñán, Different anomalies in a Jarratt family of iterative root finding methods, *Appl. Math. Comput.* 233, (2014), 29-38.
- [9] A. A. Magreñán, A new tool to study real dynamics: The convergence plane, *Appl. Math. Comput.* 248, (2014), 29-38.
- [10] B. Neta, New third order nonlinear solvers for multiple roots, *Appl. Math. Comput.*, 202,(2008), 162–170.
- [11] N. Obreshkov, On the numerical solution of equations (Bulgarian), *Annuaire Univ. Sofia. fac. Sci. Phy. Math.*, 56 , (1963), 73–83.
- [12] N. Osada, An optimal mutiple root-finding method of order three, *J. Comput. Appl. Math.*, 52, (1994), 131–133.
- [13] M. S. Petkovic, B. Neta, L. Petkovic, J. Džunič, *Multipoint methods for solving nonlinear equations*, Elsevier, 2013.
- [14] H. M. Ren, I. K. Argyros, Convergence radius of the modified Newton method for multiple zeros under Hölder continuity derivative, *Appl. Math. Comput.*, 217, (2010), 612–621.
- [15] E. Schröder, Uber unendlich viele Algorithmen zur Auflosung der Gleichunger. *Math. Ann.*, 2(1870), 317–365.
- [16] J.F.Traub, *Iterative methods for the solution of equations*, AMS Chelsea Publishing, 1982.